Rose des sables
Serge Duchéne

80
3

Andante J
2

Q
=)
=}
)
<
$—
2
=

N
E=S
[ 1
| 1R
0 —_
o
NEE
E=
[ 18
(=3
w
Il | 180
N~
e M1
=y
<
3 1
o L]
S ===
1
v —_
(ag}
1
< L
o
1
o L
o
1
o L]
o
1
N
— |-
- ===
1
o |11
o
1
o i
(o}
1
i
iy
o0
e O
1
~
5
1
o ]
N
1
wy
v L
1
< L
o™
1
o L
o~
1
o L
o~
1
—
=
s 1
TR M
g
° 1
8
Eo L]
=2
3
= 1
s} —_——
gy =22
1
o~ —_
=
1
—
<>
E Nt

mp

< L
vy
N
N
Bl =
@ =
|
ww [
TTT
(YR
(VIR
_A/.. [
N[
===
(YR
(VIR
o L
9
N
===
(Y8
(Y1A
<N
L B
|
Mw .
Q]
3 |w
<
M [
N
SO
|
|
m .
TTTO
(18
(V1A
<N
>
D et

80
73

Andante J

100
55

Moderato J

75

74

72

71

70

69

68

67

66

65

64

63

62

61

60

59

58

57

56

54

53

52

Y ph

vV

120
8

Allegro J

90

9

87

86

85

84

83

82

81

laisser vibrer

80

79

78

71

100
I
|
|

99

97
I
I
I

96
I
I
I

93
I
|
|

92
I
|
|

{es?
\\3)
J

Serge Duchéne © Tous droits réservés

ee-sc


http://www.free-scores.com

